TEXAS LOTTERY COMMISSION Scratch Ticket Game Closing Analysis SUMMARY REPORT

Scratch Ticket Information		Date Completed	9/30/2019
Game #	2080	Confirmed Packs	6,036
Game Name	Break the Bank	Active Packs	2,712
Quantity Printed	40,562,000	Warehouse Packs	19,735
Price Point	\$2	Returned Packs	36
Start Date	6/15/2018	Printed Payout Percentage	65.05%
Top Prize	\$ 30,000	Percent Sold	89.90%
Number of Top Prizes Remaining	4	Number of Weeks Out	67

	Current Game	Sales Analysis
TANGIBLE COSTS		
Expenditure Impact:		
Cost to print tickets	\$ 467,480	Actual ticket production costs
Prize payout expense	\$ 46,188,150	Data from Instant Ticket Tier Liability screen in ES
Estimated Direct Costs	\$ 46,655,630	
TANGIBLE BENEFITS		
Revenue Impact:		
Estimated sales	\$ 72,930,476	Based on # of tkts printed, times % sold from DaVinci report, times the price point
Total Estimated Benefits	\$ 72,930,476	
Excess of Revenue over Expended	\$ 26,274,846	

INTANGIBLE POSITIVE BENEFITS:

- --Allows for open bin space for new games at same price point with higher average weekly sales.
- --Allows retailers to return inventory to TLC that is not selling thus releasing their financial burden

INTANGIBLE NEGATIVE BENEFITS:

--There are still valuable prizes remaining in this game.

Assumptions:

--Estimated sales revenue is calculated based on the number of tickets printed times the percent sold from the DaVinci report. The percent sold amount is based on pack settlements. Some partial packs could be returned thus slightly reducing the sales revenue amount reported above.

Weekly Sale	s Comparison Inform	nation	
Previous 3	Weeks Sales from DaVi	inci	
Most recent week sales	\$	319,474	
Next week	\$	327,380	
Next week	\$	405,122	electronic representation of the control of the con
Avg Weekly Sales Current Game	\$	350,659	AVETTE SATTE
Avg Weekly Sales \$2; >35M Qty*	\$	1,243,302	
Percentage Of Variance In Sales	(1) [1] [1]	72%	

TEXAS LOTTERY COMMISSION Scratch Ticket Game Closing Analysis RECOMMENDATION AND APPROVALS

Instant Ticket Information	n		
Game #	2080	Printed Payout Percentage	65.05%
Game Name	Break the Bank	Actual Payout Percentage	63.33%
Percent Sold	89.90%	Number of Weeks Out	67
Average # of Weeks for 85% Se	II-through for Same Price Poi	nt Game With Similar Print Run.*	55
* only one game at this level with 85% s	ell through		
Recommendation			
Based on the findings in thi	s Summary Report, I am reco	mmending closing the above game	
I am recommending closing	g the above game based on the	ne below business reason(s):	
	, ,		
Instant Product Coordinator	9/30//9 Date		
Instant Product Coordinator	Date		
\mathcal{N} .	12/10		
Politica Marian	10 1 1 1 9		
Products Manager	Date		
By signing below, I agree with the	e recommendation of the Pro	ducts Department Staff to close the	above game.
			consist depondent of the system make the
	/, \		
	/ od 10		
Lottery Operations Division Dire	ctor Date	'	
(-0	dr. "One		
, Re	This		
Controller Controller	Date		
19 15	0./		
1000			
Executive Directo	Date		
\'/			

9/30/19	Da Vinci Report
	JIEBY TAY CHE CHINES OF JEANS.

		756	2089 \$	2052 \$	2080 \$		2146 \$	23 120	N N N		2 2 2 3 Jo 15			2173 1878 2149 1804 2132 2132 2142 2068 2146	2126 2173 1878 2149 1804 2132 2142 2068 2146	2167 2126 2173 1878 2149 1804 2132 2142 2068 2146	2172 2167 2126 2128 2173 1878 2149 1804 2132 2142 2068 2146	2159 2172 2167 2167 2126 2173 1878 2149 1804 2149 2132 2142 2068 2146	2171 2159 2172 2167 2167 2126 2173 1878 2149 1804 2149 2132 2142 2068 2146	2158 2171 2159 2172 2167 2126 2173 1878 2149 1804 2132 2142 2068 2146	2155 2158 2118 2171 2159 2172 2167 2126 2173 1878 2149 1804 2132 2142 2068 2146	2165 2158 2158 2171 2159 2172 2167 2128 2173 1878 2149 1804 2132 2142 2068 2146	2152 2165 2156 2158 2158 2177 2159 2172 2167 2126 2126 2173 2128 2173 2128 2128 2128 2128 2129 2128 2128 2128	2175 2162 2165 2165 2158 2171 2179 2179 2172 2167 2126 2173 1878 2149 1804 2132 2142 2068 2146	2060 2175 2152 2165 2155 2165 2171 2179 2179 2172 2167 2172 2173 1878 2149 1804 2132 2142 2068	2120 2060 2175 2152 2155 2155 2155 2158 2171 2159 2172 2167 2172 2167 2172 2173 2173 2173 2173 2173 2173 217	2162 2120 2060 2175 2152 2165 2165 2158 2158 2171 2159 2172 2167 2172 2167 2173 2173 2173 2173 2173 2173 2173 217	2174 2162 2120 2060 2175 2155 2155 2158 2158 2171 2159 2177 2159 2177 2167 2167 21804 2132 2142 2068	2124 2174 2162 2162 2120 2060 2175 2165 2165 2158 2158 2171 2159 2177 2159 2177 2167 2167 2167 2168 2171 2169 2172 2167 2168 2173 2167 2168 2149 1804 2132 2146	e 2170 2124 2174 2162 2162 2160 2175 2155 2155 2158 2158 2171 2159 2177 2159 2177 2167 2167 2167 2168 2171 2169 2172 2167 2168 2173 2169 2172 2167 2168 2173 2169 2172 2167 2168 2173 2169 2172 2169 2172 2169 2172 2169 2172 2169 2172 2169 2172 2169 2173 2169 2173 2169 2173
		\$3 41.5	\$3 5,9	\$3 35,6	\$2 40,																									
5,989,875 41,527,800 7,221,000	11,527,800	0/8'686'0	2000	35,669,250 \$50,0	40,562,000	7,053,375		30 502 050 W																						
				\$50,000 BONUS CASHWORD	BREAK THE BANK 6	AMAZING 8S 6	WEEKLY HALF GRAND 8	INFLE LOOK COOK																						
6/3/19 9/17/18 4/15/19	6/3/19	6/3/19	10000000000000000000000000000000000000	2/4/19	6/15/18	6/17/19	8/20/18	6/3/19		5/6/19	9/18/17 5/6/19	6/26/19 9/18/17 5/6/19	9/18/17 6/26/19 9/18/17 5/6/19	9/3/19 9/18/17 6/26/19 9/18/17 5/6/19	7/15/19 9/3/19 9/3/19 9/18/17 6/26/19 9/18/17 5/6/19	9/16/19 7/15/19 9/3/19 9/18/17 9/18/17 5/6/19	9/3/19 9/16/19 7/15/19 9/3/19 9/3/19 9/18/17 6/26/19 9/18/17	8/19/19 9/3/19 9/16/19 7/15/19 9/3/19 9/18/17 6/26/19 9/18/17	9/3/19 8/19/19 9/3/19 9/16/19 9/15/19 9/3/19 9/18/17 6/26/19 9/18/17	8/19/19 9/3/19 8/19/19 9/3/19 9/16/19 9/15/19 9/3/19 9/18/17 6/26/19 9/18/17	8/5/19 8/19/19 9/3/19 9/3/19 9/3/19 9/16/19 9/18/17 6/28/19 9/18/17 5/6/19	8/5/19 8/5/19 8/19/19 9/3/19 9/3/19 9/16/19 9/16/19 9/3/19 9/18/17 6/28/19 9/18/17	7/15/19 8/5/19 8/5/19 8/79/19 9/3/19 9/18/17 6/28/19 9/18/17	9/16/19 9/16/19 8/5/19 8/5/19 8/5/19 8/19/19 9/3/19 9/18/17 6/28/19 9/18/17	8/19/19 9/16/19 9/16/19 8/5/19 8/5/19 8/5/19 8/5/19 8/19/19 9/3/19 9/16/19 9/18/17 6/26/19 9/18/17	7/15/19 8/19/19 9/16/19 9/16/19 8/5/19 8/5/19 8/5/19 8/5/19 8/19/19 9/3/19 9/16/19 9/18/17 6/26/19 9/18/17	8/5/19 7/15/19 8/19/19 9/16/19 9/16/19 8/5/19 8/5/19 8/7/15/19 9/3/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19 9/16/19	9/3/19 8/5/19 8/7/15/19 8/19/19 9/16/19 8/5/19 8/5/19 8/5/19 8/5/19 8/7/15/19 8/7/15/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19	8/8/19 9/3/19 8/5/19 8/5/19 7/15/19 8/19/19 9/16/19 8/5/19 8/5/19 8/5/19 8/7/15/19 8/7/15/19 8/7/15/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19	9/3/19 8/8/19 9/3/19 8/5/19 7/15/19 8/19/19 9/16/19 8/19/19 8/19/19 8/19/19 8/19/19 8/19/19 8/19/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19 9/3/19
24		2	17	34	67	15	58	17	100	21	21	13 106 21	106 13 106 21	106	106 4 11 106 106 21 21 21	106 4 4 13 106 106 106 106 106 106 106 106 106 106	106 4 4 113 13 13 13 13 13 13 13 13 13 13 13 13	106	106 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	106 4 11 2 4 6 6 6 10 10 10 10 10 10 10 10 10 10 10 10 10	106 4 11 2 4 6 8 8 2 106 106 106 106 106 106 106 106 106 106	22 106 23 106 4 11 2 4 6 4 6 8 8	22 106 23 106 4 21 22 4 6 4 6 8 8 21	22 106 24 11 2 4 6 4 6 8 8 11 2 2 106 2 2 2 2 2 3 3 3 4 4 11 2 2 4 6 4 6 8 8 7 11 2 2 2 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3	22 106 6 8 8 11 2 6 6 8 8 11 2 106 6	11 11 11 11 11 11 11 11 11 11 11 11 11	106 4 11 2 4 6 4 6 8 8 8 11 2 2 106 8 11 11 11 11 11 11 11 11 11 11 11 11 1	106 4 11 2 4 6 8 8 8 11 2 6 1 1 8 4	7 7 8 8 8 8 8 11 2 2 6 11 11 11 11 11 11 11 11 11 11 11 11 1	106 4 11 2 2 4 6 8 8 8 11 11 11 11 11 11 11 11 11 11 11
86.15%	100	61.78%	75.46%	55.55%	89.90%	82.19%	86.66%	02.20	82 20%	80.86%	0.00% 80.86% 82.20%	88.08% 0.00% 80.86%	0.00% 88.08% 0.00% 80.86%	0.00% 88.08% 0.00% 80.86%	70.34% 10.91% 0.00% 88.08% 80.86%	70.34% 10.91% 0.00% 88.08% 0.00%	28.46% 2.21% 70.34% 10.91% 0.00% 88.08% 80.86%	18.52% 28.46% 2.21% 70.34% 10.91% 0.00% 88.08% 80.86%	36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 88.08% 80.86% 82.20%	18.89% 36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 88.08% 80.86%	36.22% 18.89% 36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 88.08% 80.86%	30.97% 36.22% 18.89% 36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 88.08% 80.86%	59.59% 30.97% 36.22% 18.89% 36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 80.86% 80.86%	10.70% 59.59% 30.97% 36.22% 18.89% 36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 80.86% 80.86%	5.35% 10.70% 59.59% 30.97% 36.22% 18.89% 36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 80.88% 80.88%	65.10% 5.35% 10.70% 59.59% 30.97% 36.22% 18.89% 36.23% 18.52% 28.46% 2.21% 70.34% 10.91% 0.00% 80.88%	9.66% 65.10% 5.35% 10.70% 59.59% 30.97% 36.22% 18.89% 36.22% 18.82% 28.46% 2.21% 70.34% 10.91% 88.08% 80.86%	28.47% 9.66% 65.10% 5.35% 10.70% 59.59% 30.97% 36.22% 18.89% 36.22% 18.89% 28.46% 2.21% 70.34% 10.91% 88.08% 80.86%	0.00% 28.47% 9.66% 65.10% 5.35% 10.70% 59.59% 30.97% 36.22% 18.89% 36.22% 18.89% 28.46% 2.21% 70.34% 10.91% 88.08% 80.86%	28.06% 0.00% 28.47% 9.66% 65.10% 5.35% 10.70% 59.59% 30.97% 36.22% 18.89% 36.22% 10.91% 10.91% 0.00% 88.08% 60.08%
3,860		18,684	4,193	14,397	6,036	4,666	8,890	5,307	5000	11,666	11,666	3,233 0 11,666	3,233 0 11,666																	
2,028		11,203	4,038	9,179	2,712	3,770	5,870	3,898		8,101		2,58 8,10																		
0,000	6 363	177,207	855	99,981	19,735	120	10,422	24		221	101		2	7	13	. 4	. 4 .	. 4		# 4	# A	# A	3 4 5 3 3 3 3 3	# #	. 4	# 4		11 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	. 4	1 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
184		20	1,086	18	36	473	9	328		113																				
\$336,120.00			\$447,573.00	\$1,752,465.00	\$319,474.00	\$316,988.00	\$260,707.00	\$208,902.00		\$391,809.00																				
0 \$372,905.00		3 \$1,390,749.00	0 \$530,796.00	0 \$1,770,843.00	0 \$327,380.00	0 \$420,710.00	\$265,995.00	0 \$252,213.00		0 \$438,965.00				\$4,672,530,000 \$5237,232.00 \$5237,232.00 \$5237,232.00 \$5237,232.00	\$2,550,790.00 \$2,620,280.00 \$4,473,570.00 \$4,672,530.00 \$9,4473,570.00 \$4,672,530.00 \$0 \$0 \$176,405.00 \$237,232.00 \$0 \$391,805.00 \$438,965.00	\$3,937,160.00 \$1,933,160.00 \$2,550,730.00 \$2,620,280.00 \$4,473,570.00 \$4,672,530.00 \$0 \$176,405.00 \$237,232.00 \$0 \$391,809.00 \$438,965.00	\$4,439,550.00 \$4,799,370.00 \$3,937,160.00 \$1,933,160.00 \$2,650,280.00 \$4,473,570.00 \$4,672,530.00 \$4,473,570.00 \$4,672,530.00 \$0 \$176,405.00 \$237,232.00 \$0 \$391,805.00 \$438,955.00	\$30,880,00 \$4,799,370,00 \$1,933,160,00 \$2,620,280,00 \$4,672,530,00 \$4,672,530,00 \$4,672,530,00 \$3,47,232,00 \$3,438,965,00	\$3,777,420.00 \$3930,880.00 \$4,799,370.00 \$1,933,160.00 \$2,620,280.00 \$4,672,530.00 \$4,672,530.00 \$237,232.00 \$4,38,965.00	\$1,499,280.00 \$3,777,420.00 \$3930,880.00 \$4,799,370.00 \$1,933,160.00 \$2,620,280.00 \$4,672,530.00 \$4,672,530.00 \$2,37,232.00 \$3,438,965.00	\$1,241,125.00 \$1,341,325.00 \$1,241,325.00 \$1,499,280.00 \$1,499,280.00 \$3,389,870.00 \$3,777,420.00 \$8850,175.00 \$4,799,370.00 \$4,4799,370.00 \$2,550,730.00 \$2,620,280.00 \$2,550,730.00 \$2,620,280.00 \$4,473,570.00 \$4,672,530.00 \$4,473,570.00 \$5237,232.00 \$0 \$176,405.00 \$2337,232.00 \$0 \$391,805.00 \$438,965.00	\$1,907,900.00 \$2,019,935.00 \$1,241,125.00 \$1,341,325.00 \$1,341,325.00 \$1,499,280.00 \$3,349,955.00 \$3,3777,420.00 \$8,439,550.00 \$4,799,370.00 \$4,439,550.00 \$1,933,160.00 \$2,550,730.00 \$2,620,280.00 \$4,473,570.00 \$4,672,530.00 \$4,473,570.00 \$2,572,530.00 \$3,176,405.00 \$237,232.00 \$0 \$391,805.00 \$438,965.00	\$1,026,115.00 \$2,019.935.00 \$1,341,325.00 \$1,499,280.00 \$3,777,420.00 \$930,880.00 \$4,799.370.00 \$1,933,160.00 \$2,620,280.00 \$4,672,590.00 \$4,672,590.00 \$4,672,590.00 \$4,872,590.00 \$4,872,590.00 \$4,872,590.00 \$4,872,590.00	\$2,406,635.00 \$1,449,265.00 \$91,420,25.00 \$1,026,115.00 \$1,241,325.00 \$1,241,325.00 \$1,241,325.00 \$1,241,125.00 \$1,341,325.00 \$1,489,280.00 \$3,348,080.00 \$3,777,420.00 \$3,377,420.00 \$4,439,550.00 \$4,799,370.00 \$4,439,550.00 \$1,933,160.00 \$2,550,730.00 \$2,620,280.00 \$4,473,570.00 \$4,672,530.00 \$176,405.00 \$237,232.00 \$0 \$3176,405.00 \$237,232.00 \$0 \$3176,405.00 \$438,965.00 \$438,965.00	\$798.698.00 \$1,449.265.00 \$1,026.115.00 \$2,019.935.00 \$1,341.325.00 \$1,341.325.00 \$1,341.325.00 \$1,347.420.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,893.70.00 \$4,893.70.00	\$725,474.00 \$726,698.00 \$1,449.265.00 \$1,026,115.00 \$2,019.935.00 \$1,341,325.00 \$1,341,325.00 \$3,777,420.00 \$3,777,420.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,799.370.00 \$4,672.530.00 \$4,672.530.00 \$4,672.530.00 \$4,38,965.00	\$1,064,784.00 \$725,474.00 \$798,698.00 \$1,449,265.00 \$1,26,115.00 \$1,341,325.00 \$1,341,325.00 \$1,499,280.00 \$3,777,420.00 \$4,799,370.00 \$4,799,370.00 \$1,933,160.00 \$4,672,530.00 \$4,672,530.00 \$4,38,965.00 \$438,965.00	\$1,219,126.00 \$1,183,864.00 \$1,127,208.00 \$1,087,466.00 \$1,064,784.00 \$1,065,846.00 \$1,065,846.00 \$1,065,846.00 \$776,922.00 \$868,742.00 \$725,474.00 \$776,922.00 \$868,742.00 \$7,98,898.00 \$759,184.00 \$2,406,635.00 \$1,026,115.00 \$1,146,470.00 \$1,207,900.00 \$2,019,935.00 \$1,302,485.00 \$1,241,125.00 \$1,341,325.00 \$1,302,485.00 \$1,499,280.00 \$1,653,455.00 \$3,389,870.00 \$1,777,420.00 \$4,254,580.00 \$3,389,870.00 \$4,799,370.00 \$5,380,610.00 \$2,360,730.00 \$1,933,160.00 \$5,380,610.00 \$2,550,730.00 \$4,672,530.00 \$2,881,490.00 \$2,550,730.00 \$4,672,530.00 \$4,949,850.00 \$1,776,405.00 \$4,949,850.00 \$3,3776,405.00 \$4,949,850.00 \$3,3776,405.00 \$4,949,850.00 \$3,3776,405.00 \$4,949,850.0	\$0 \$1,183,864.00 \$1,064,784.00 \$7,25,474.00 \$7,98,698.00 \$1,449,285.00 \$1,449,285.00 \$1,499,280.00 \$3,777,420.00 \$3,777,420.00 \$4,799,370.00 \$1,933,160.00 \$1,933,160.00 \$4,672,530.00 \$4,672,530.00 \$4,672,530.00 \$3,777,232.00 \$3,777,232.00 \$4,672,530.00	\$1,183,864,00 \$1,183,864,00 \$1,064,784,00 \$7,25,474,00 \$1,026,115.00 \$1,206,115.00 \$2,019,935.00 \$1,499,280.00 \$3,777,420.00 \$4,799,370.00 \$1,993,770.00 \$4,799,370.00 \$1,993,700.00 \$4,799,370.00 \$1,993,700.00 \$4,799,370.00 \$1,993,700.00 \$1,
3414,800.00		\$1,384,437.00 \$1,390,749.00 \$1,365,072.00 \$1,399,215.00	\$575,451.00	\$1,730,871.00	\$405,122,00	\$467,504,00	\$292,150.00	\$277,746.00	\$400,000,00					\$4,949,850.00		\$2,881,490,00 \$2,881,490,00 \$4,949,850,00 \$315,252,00 \$315,252,00 \$3	\$5,380,610,00 \$500,00 \$2,881,490,00 \$4,949,850,00 \$315,252,00 \$315,252,00 \$0	\$1,001,225.00 \$5,380.610.00 \$500.00 \$2,881,490.00 \$4,949,850.00 \$315,252.00 \$0 \$315,252.00	\$3,777,420.00 \$4,254,580.00 \$1,864,465.00 \$930,880.00 \$1,001,225.00 \$1,027,450.00 \$4,799,370.00 \$5,380,610.00 \$2,797,610.00 \$1,933,160.00 \$5,380,610.00 \$3,813,140.00 \$0,82,620,280.00 \$4,949,850.00 \$2,709,750.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$0,830,732.00 \$0,830,732.00 \$0,830,830,830,830,830,830,830,830,830,83	\$1,498,060.00 \$1,499,280.00 \$1,653,455.00 \$1,795,405.00 \$3,389,870.00 \$3,777,420.00 \$4,254,580.00 \$1,864,465.00 \$85,0775.00 \$920,880.00 \$1,001,225.00 \$1,027,450.00 \$4,499,550.00 \$4,799,370.00 \$5,380,610.00 \$2,797,610.00 \$3,937,160.00 \$1,933,160.00 \$5,080,00 \$3,937,160.00 \$2,650,280.00 \$2,881,490.00 \$3,813,140.00 \$4,473,570.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,473,570.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,473,570.00 \$4,672,530.00 \$3,937,160.00 \$2,709,750.00 \$4,473,570.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,473,570.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,473,570.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,473,570.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,473,570.00 \$4,672,530.00 \$4,949,850.00 \$2,709,750.00 \$4,672,530.00 \$5,709,750	\$1,302,485.00 \$1,653,455.00 \$4,254,580.00 \$1,001,225.00 \$5,380,610.00 \$5,380,610.00 \$2,881,490.00 \$4,949,880.00 \$315,262.00	\$2,069,060.00 \$1,302,485.00 \$1,653,455.00 \$4,254,580.00 \$4,254,580.00 \$5,380,610.00 \$5,380,610.00 \$5,380,490.00 \$2,881,490.00 \$4,949,850.00 \$315,252.00 \$315,252.00	\$1,146,470.00 \$2,069,060.00 \$1,302,485.00 \$1,653,485.00 \$4,254,580.00 \$1,001,225.00 \$5,380,610.00 \$5,380,610.00 \$5,381,490.00 \$2,881,490.00 \$34,949,850.00 \$315,252.00 \$3	\$75.00 \$1,146,470.00 \$2,069,060.00 \$1,302,485.00 \$1,653,455.00 \$1,001,225.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00	\$759,184.00 \$750,00 \$1,146,470.00 \$2,069,060.00 \$1,302,485.00 \$4,254,580.00 \$1,001,225.00 \$1,001,225.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,380,610.00 \$5,381,490.00 \$5,381,490.00 \$5,381,490.00 \$5,381,490.00 \$5,381,490.00 \$5,381,490.00	\$776,922.00 \$776,922.00 \$759,184.00 \$375.00 \$1,146,470.00 \$1,302,485.00 \$1,302,485.00 \$1,653,455.00 \$4,254,580.00 \$1,001,225.00 \$5,380,610.00	\$1,065,846.00 \$776,922.00 \$776,922.00 \$759,184.00 \$375.00 \$1,146,470.00 \$1,653,455.00 \$4,254,580.00 \$4,254,580.00 \$5,380,610.00	\$1,127,208.00 \$1,065,846.00 \$776,922.00 \$776,922.00 \$759,184.00 \$375.00 \$1,302,485.00 \$1,302,485.00 \$1,653,455.00 \$4,254,580.00 \$4,254,580.00 \$5,380,610.00	\$1,127,208.00 \$1,065,846.00 \$1,065,846.00 \$776,922.00 \$776,922.00 \$375.00 \$1,146,470.00 \$1,302,485.00 \$1,302,485.00 \$1,501,225.00 \$1,501,225.00 \$2,881,490.00 \$2,881,490.00 \$3,494,985.00 \$3,153,252.00 \$3,153,252.00 \$3,153,252.00 \$3,153,252.00 \$3,153,252.00 \$3,153,252.00 \$3,153,252.00	\$695,721.00 \$1,127,208.00 \$1,127,208.00 \$1,065,846.00 \$776,922.00 \$776,922.00 \$375,9184.00 \$375,069,060.00 \$1,302,485.00 \$1,302,485.00 \$1,302,485.00 \$1,001,225.00 \$5,380,610.00 \$5,380,610.00 \$2,881,490.00 \$2,881,490.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00 \$3,4949,850.00
	\$492,315.00	\$1,399,215.00	\$613,197.00	\$1,723,611.00	\$460,494,00	\$553,334.00	\$279,359.00	\$313,113.00	\$503,081.00					\$426.792.0	\$3,813,140.0 \$2,709,750.0 \$2,709,750.0 \$426,792.0	\$3,813,140.00 \$2,709,750.00 \$426,792.00	\$2,797,610.0 \$3,813,140.0 \$2,709,750.0 \$426,792.0 \$	\$2,797,610.0 \$2,799,760.0 \$2,79	\$1,864,465.0 \$1,027,450.0 \$2,797,610.0 \$2,799,760.0 \$2,799,760.0 \$2,799,760.0 \$2,799,780.0 \$426,782.0 \$	\$1,795,405.0 \$1,864,465.0 \$1,027,450.0 \$2,797,610.0 \$2,799,760.0 \$2,709,760.0 \$2,709,760.0 \$2,709,760.0 \$2,709,760.0	\$1,617,210.0 \$1,795,405.0 \$1,864,465.0 \$1,027,450.0 \$2,797,610.0 \$2,797,610.0 \$2,799,760.0 \$2,709,760.0 \$2,709,760.0 \$2,709,760.0 \$2,709,760.0	\$2,302,515.0 \$1,617,210.0 \$1,795,405.0 \$1,864,465.0 \$1,027,450.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0	\$1,359,120.0 \$2,302,515.0 \$1,617,210.0 \$1,795,405.0 \$1,984,465.0 \$1,027,450.0 \$2,797,610.0 \$2,797,610.0 \$2,709,750.0 \$3,813,140.0 \$2,709,750.0 \$3,813,140.0 \$2,709,750.0 \$3,813,140.0 \$3,81	\$1,359,120.0 \$2,302,515.0 \$1,617,210.0 \$1,1795,405.0 \$1,027,450.0 \$2,797,610.0 \$2,797,610.0 \$2,709,750.0 \$3,813,140.0 \$2,709,750.0 \$426,792.0 \$	\$660,672.0 \$1,359,120.0 \$2,302,515.0 \$1,617,210.0 \$1,795,405.0 \$1,795,405.0 \$1,027,450.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$3,813,140.0 \$2,797,750.0 \$3,813,140.0 \$3,813,	\$893,476.0 \$660,672.0 \$660,672.0 \$ \$1,359,120.0 \$2,392,515.0 \$1,795,405.0 \$1,795,405.0 \$1,027,450.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$3,813,140.0 \$2,797,650.0 \$3,813,140.0 \$2,797,650.0 \$3,813,140.0 \$2,797,650.0 \$3,813,140.0	\$1,152,648.0 \$833,476.0 \$833,476.0 \$860,672.0 \$660,672.0 \$ \$1,359,120.0 \$2,302,515.0 \$1,95,405.0 \$1,95,405.0 \$1,027,450.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0 \$2,797,610.0			

Page 1 of 1

Active

Liability for 2080 / for Life to Date

Product Status:

SmartCash Enabled:

N/A

Validation Range: 05/09/2018 - 12/31/2037

Outstanding Prizes

				- TO					
Tier	Ref	SmartCash	Tier Value	Count	Amount	Tickets Paid Life to Date	Amount Paid Life to Date	% paid	Est. Tickets Sold
1	1	N/A	\$2.00	660250	\$1,320,500.00	3314776	\$6,629,552.00	83.39%	33824670
	2	N/A	\$4.00	144423	\$577,692.00	828925	\$3,315,700.00	85.16%	34543509
2	3	N/A	\$4.00	179433	\$717,732.00	1199604	\$4,798,416.00	86.99%	35284287
4	4	N/A	\$6.00	38370	\$230,220.00	286177	\$1,717,062.00	88.18%	35766503
5	5	N/A	\$6.00	39572	\$237,432.00	284975	\$1,709,850.00	87.81%	35616277
6	6	N/A	\$8.00	9129	\$73,032.00	71962	\$575,696.00	88.74%	35995642
7	7	N/A	\$8.00	9508	\$76,064.00	71545	\$572,360.00	88.27%	35803835
8	8	N/A	\$10.00	10655	\$106,550.00	70436	\$704,360.00	86.86%	35232331
9	9	N/A	\$10.00	17948	\$179,480.00	144315	\$1,443,150.00	88.94%	36075414
10	10	N/A	\$10.00	17637	\$176,370.00	144596	\$1,445,960.00	89.13%	36152342
11	11	N/A	\$12.00	17714	\$212,568.00	144549	\$1,734,588.00	89.08%	36133909
12	12	N/A	\$12.00	17463	\$209,556.00	144681	\$1,736,172.00	89.23%	36193449
13	13	N/A	\$12.00	17400	\$208,800.00	144952	\$1,739,424.00	89.28%	36214786
14	14	N/A	\$20.00	10207	\$204,140.00	70884	\$1,417,680.00	87.41%	35456423
15	15	N/A	\$20.00	8512	\$170,240.00	72698	\$1,453,960.00	89.52%	36310507
16	16	N/A	\$20.00	8431	\$168,620.00	72711	\$1,454,220.00	89.61%	36347435
17	0	N/A	\$50.00	5258	\$262,900.00	36991	\$1,849,550.00	87.55%	35513951
18	0	N/A	\$50.00	5406	\$270,300.00	48648	\$2,432,400.00	90.00%	36505349
19	0	N/A	\$50.00	5387	\$269,350.00	48685	\$2,434,250.00	90.04%	36520952
20	0	N/A	\$200.00	1291	\$258,200.00	8845	\$1,769,000.00	87.26%	35395707
21	0	N/A	\$200.00	846	\$169,200.00	7627	\$1,525,400.00	90.02%	36512023
22	0	N/A	\$200.00	980	\$196,000.00	8662	\$1,732,400.00	89.84%	36439332
23	0	N/A	\$1,000.00	22	\$22,000.00	150	\$150,000.00	87.21%	35373837
24	0	N/A	\$1,000.00	81	\$81,000.00	602	\$602,000.00	88.14%	35751572
25	0	N/A	\$3,000.00	10	\$30,000.00	93	\$279,000.00	90.29%	36623942
26	0	N/A	\$3,000.00	11	\$33,000.00	112	\$336,000.00	91.06%	36934504
27	0	N/A	\$30,000.00	4	\$120,000.00	21	\$630,000.00	84.00%	34072080
			Totals:	1225948	\$6,580,946.00	7,228,222	\$46,188,150.00		

Order Quantity:
Price Point:
Revenue:

40,562,000 \$2.00 \$81,124,000.00

Pack Size:
Packs/Game:
Packs/Pool:

125 324,496 1,920

Pool Size: Number of Pools:

240,000

Winvers: 8,454,170
Non-winners: 32,107,830
Overall Odds: 4,7979

Prize Fund: Payout:

\$52,769,096.00 65.05% **Total Payout**

Prize Structure
TEXAS LOTTERY
GAME NO.2080 "BREAK THE BANK"
October 25, 2017 - VERSION A

	100	di	5 17	
			The second second	200 BA7 1
\$30,000 \$30,000.00	1622480.0000		1622480.0000	1622480.0000 0.00
Total (\$3,000.00):	179477.8761		179477.8761	179477.8761 0.00
\$3,000.00	0 329772.3577		329772.3577	329772.3577 0.00 0.72
\$3,000.00	393805.8252		393805.8252	393805.8252 0.00 0.60
Total (\$1,000.00):	47440.9357		47440.9357	47440.9357 0.00
\$1,000.00	59387.9941		59387.9941	59387.9941 0.00 4.00
\$1,000.00	235825.5814		235825.5814	235825.5814 0.00
	227 0776	227 0778 0.55		0.55
Total (\$200.00):	1435.7722		1435.7722	1435.7722 0.09
	4206.8036	4206.8036 0.03	1	0.03
	4787.2064	4787.2064 0.03		0.03
	4001.7758	4001.7758 0.03		0.03
	269.7390	269.7390 0.46	顺	0.46 890.00
1251	750.1480	750.1480 0.17	0.17	0.17 320.00
	750.3978	750.3978 0.17		0.17
\$50.00	960,0701		960.0701	960.0701 0.13
	1,9021	4 9021 25 50		25 50 4
Total (\$20.00):	166,6181		166,6181	166.6181 0.75
\$20.00	499.8891		499.8891	499.8891 0.25
\$20.00	499,4705		499,4705	499.4705 0.25
	500.2035	500.2035 0.25		0.25
	83,3308	83,3308 1.50		1.50
	249.8399	249.8399 0.50		0.50
	250,1604	250,1604 0.50		0.50
	249,9769	249.9769 0.50		0.50
	100.0081	100.0081 1.25		1.25
	250.0231	250.0231 0.50		0.50
	249.9769	249.9769 0.50		0.50
	500.2035	500.2035 0.25		0.25
	250.1604	250.1604 0.50	B. B.	0.50
	500,4380	500.4380 0.25		0.25
	500.2035	500.2035 0.25		0.25
	62,4902	62.4902 2.00		2.00
	124.9804	124.9804 1.00	ľ	1.00 1,920.00
	124,9804	124.9804 1.00	1.00	1.00 1,920.00
	11,2429	11,2429 7.25	7.25	7.25 13,820.00 2
SY	29.4133	B	4.25	4.25 8,160.00
	41.5727		3.00	3.00 5,/60.00
	2407.01		12.25	12.25 23,520.00
	10.200	100	1000	23 530.00
	Odds (1 In)	Odds (1 in) Pack	Odds (1 in) Park Pool	
			Winners	

Exact Quantity by Kind Level

ORIGINAL ORDER

SHIPMENT # 1-6 COMPLETE POOLS # 1-182

40,562,000 3,975,026 973,348 1,379,037 324,547 324,547 162,263 162,144 162,352 81,091 162,263 162,233 81,091 81,053 81,091 81,210 81,142 42,249 54,054 54,072 10,136 8,473 9,642 103 172 683



INTEROFFICE MEM

Gary Grief, Executive Director Ed Rogers, Acting Charitable

0.0000

40 562 1000 +

1,000 - =

40.562.00000

40 202 -

11.53 =

457 67 4 100 2

457 AV - 1 19

Payment Approval

May 10, 2018

The attached invoice(s) for service is being submitted for approval.

Vendor Name:

Scientific Games, Inc

Invoice Number:

1032417-6

Tx Game name:

TX-2080 Break the Bank

PO #:

362-18-9019 RL005

H-01100 -

Quantity	Price	Total
6796.75	\$11.53	\$78,366.53
6795.75		\$78,355.00
6798.00		\$78.380.94
6798.50	\$11.53	\$78,386.71
6799.13	\$11.53	\$78,393.91
6573.88	\$11.53	\$75,796.78
	6796.75 6795.75 6798.00 6798.50 6799.13	6796.75 \$11.53 6795.75 \$11.53 6798.00 \$11.53 6798.50 \$11.53 6799.13 \$11.53

Less Sanctions Letter Dated 1/23/18

(\$200.00)

Total Amount

\$467,479.86

The above referenced invoice(s) have been reviewed and certified as proper, accurate and should be paid by the Texas Lottery Commission.

5/14/18 Date Dale Bowersock (Instant Product Coordinator) Please forward to the next person for approval Robert Tirlori (Products Manager) Please forward to the next person for approval 5-21-18 Ryan Mindell (Lottery Operations Division Director)

Please return to Maria Perez in the Office of the Controller by

May 20, 2018



1500 BLUEGRASS LAKES PARKWAY ALPHARETTA, GEORGIA 30004 770 664.3700

Sold To:

TEXAS LOTTERY P.O. BOX 16630 AUSTIN, TX 78761-6630

Invoice: 1032417-6 P.O. 362-18-9019 RL005. May 10, 2018

Game	Description	Shipment	Quantity	Price Per 1000	Total Price
TX-2080	BREAK THE BANK	1	6,796,750	\$11.53	\$78,366.53
TX-2080	BREAK THE BANK	2	6,795,750	\$11.53	\$78,355.00
TX-2080	BREAK THE BANK	3	6,798,000	\$11.53	\$78,380.94
TX-2080	BREAK THE BANK	4	6,798,500	\$11.53	\$78,386.71
TX-2080	BREAK THE BANK	5	6,799,125	\$11.53	\$78,393.91
TX-2080	BREAK THE BANK	6	6,573,875	\$11.53	\$75,796.78
				TOTAL DUE	\$467,679.86

Please Remit Payment Via Wire Transfer

Bank: Bank of America Swift: BOFAUS3N

Acct name: Scientific Games International, Inc. - Operating Acct #: 501017395032
Wire Routing #: 026009593

Instant Ticket Game Analysis 2/26/17-2/23/19

Average Number of Weeks for 85% Average Sell Through

		Price Point	Point				Drice Doint	Doint	
,									
Print					Print				
Quantities	\$1	\$2	\$3	\$5	Quantities	\$10	\$20	\$30	\$50
< 5M	None	Week 12*	None	None	2M	None	None	None	None
5M-9.99M	Week 15	Week 18	Week 18	Week 17	3M	None	None	None	Week 52*
10M-14.99M	Week 20	None	None	Week 16*	4M	None	None	None	None
15M-19.99M	Week 23	None	Week 32*	Week 48	5M	None	Week 42	None	None
20M-24.99M	None	None	None	Week 57	6M	Week 22	None	None	None
25M-29.99M	Week 58*	None	None	None	7M	None	Week 49*	None	None
30M-34.99M	Week 41*	Week 57*	None	None	8M	Week 25*	None	None	None
>35M	None	Week 55*	Week 57	Week 53*	>9M	Week 43	Week 49*	None	None

Average Weekly Dollar Sales at 85% Average Sell Through

Print Quantities < 5M 5M-9.99M	\$1 None \$543,741		#3 None \$1,037,655	\$5 None \$2,105,631	Print Quantities 2M 3M	\$10 None			Price Point
Mee	None \$543,741	\$714,918 \$753,911	\$1,037,655	None \$2,105,631	3M		None		None
14.99M	\$527,618	None	None	\$2,919,843	4M		None	None None	
15M-19.99M	\$633,249	None	\$1,302,836	\$1,502,081	5M		None	None \$2,300,088	
20M-24.99M	None	None	None	\$1,710,701	6M		\$2,715,030	\$2,715,030 None	
25M-29.99M	\$438,898	None	None	None	7M		None	None \$2,502,908	
30M-34.99M	\$629,856	\$1,039,084	None	None	M8		\$2,822,095	\$2,822,095 None	
>35M	None	\$1,243,302	\$1,731,457	\$3,256,460	Ne<		\$2 847 773		\$2.847.773 \$3.190.792 None

None = no games at this level with 85% sell through * only one game at this level with 85% sell through

Excludes Promotional Tickets
Unaudited - For Internal Use Only